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Ex: Find the average of first 10 natural number ?

3al:- UYH 10 UTHTdd AT BT 3Td JTd BIToTe?
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Ex: Find the average of first 40 natural number ?

3aT:- UYH 40 UTHTd® IAT BT 3f1Td JTd PIeIT?
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Ex: Find the averaqge of first 100 natural number ?
Wf%’cﬁ T HT 3{Td JTd HioTe?

3al- UJH 100
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Ex: Find the average of all even number up to 100 ?

3ICT:- 100 db BT IU T9 I=AT3M BT 3T JTd HHTE?
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Ex: Find the averaq%e of all odd gﬁmber up to 100 ?
o T=ail &1 3d RIG ﬁllﬁlQ

3Sl:- 100 9P B g
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Ex: Find the average of
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Ex: Find the average of
13+23+33+43+
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Ex: The average of 5 consecutive number is 20. Find
the largest number?

3T:- 5 TR IAWAT BT 3T 20 81 JIH TS AT JTd
Bifora?
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Ex: The average of 5 consecutive odd number is 61.
Find the largest number?

3ST:- 5 TAR fAuH I=AT BT 3d 61 g | 9 da!
=T JTd DI ?
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Ex: The average of 4 consecutive even number is 27.
Find the largest number?

3ST- 4 ANTAR TH =T BT 3 27 31 J99 d! TBAT
3Td PHiford?




SBI CLERK 2022 / /mmat 09:00 AM/ ﬂ

Ex: The average of 5 consecutive even number is 46.
Find the smallest number ?

3Cl:- AR 5 TH JA=AT3HT BT 3d 46 & | JaH DIt
T JTd HITE?
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Ex: Average cost ot 9 apples and 3 mangoes i1s Rs. 36. The average

cost of 3 apples and 9 mangoes is Rs. 48. Find the total cost of 30
applcs and 30 mangoes ?

3aT- 9 AT IR 3 A BT T AR S 36. 3 AT 3R 9 TAT
&ﬁwam?rms, 30 JF 3R 30 ATHI B FA ARTA BT UdT AN 2
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Ex: In a set of three numbers, the average of tirst two numbers is 2, the
average of the last two numbers is 3, and the average of the first and the last
numbers is 4. What is the average of three numbers?

a1 A TSI & U TR ¥, Uga g i &7 ofiwd 2 8, siftm &)
TGRS BT 3d 3 7, 3R Ugdll 3R 3ifaq T3 o1 a4 g1 a4
GBS BT 3d T 82
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Ex: If the average of m number is n? and the average
of n number is m? the find the_average of the (m+n) ?

W:—Uﬁmmﬁ&ﬁﬂﬁnzﬁ&ﬁ?nmﬁ&ﬁ'ﬂﬁmz

(m+ n) BT AT JTd P2
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Ex: A bowler took 5 wickets after giving 26 runs in final match.
So his average Is reduced 12 from 12.4. So find the number of

wickets are taken_ by the bowler?

3al:- Uh Ao 3 Bre-d ﬁzewéﬁ%msﬁﬁmﬁml

mﬁ%ﬁggAﬁwua’rw%lﬂmm
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Ex: The average of 6 results is 45.5. If a new result is added
the new average will_ become 7, so find the new result?

&1 3NTd URoTH STeT
g%qm e’rﬁerTr‘r15 q?mm@@r? o
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Ex: The average age of 15 students Is 20 years, If average age
of first 10 students is 15 years, so find the average age of last

5 students?

3aT:- 153@?3%?; 20 94 g, afe ugd 10 BT P 3MAa

3T 15 99 B, ' DT ST 3T JTd He?
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Ex: The Average income of A,B & Cis Rs.12,000 per month and
average income of B,C & D is Rs.15,000 per month. If the average
salary of D be twice that of A, then find the average salary of B and C?

&1 3Nd vqﬁl;rf%r 3T &1 3N 3
%oﬁ%ﬁg%u%?#o tng BC&D dl B 3R C T
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Ex: The average temperature of a town in the first four days of a
month was 58 degrees. The average for the second, third, fourth and
fifth days was 60 degrees. The temperature of the first and fifth days

were In the ratlo 7.8, then What IS the temp erature on the fifth day?
dara| 58 f$3t ATy
giad

G BT B
m%ltznﬂ% &E%TIE%WE:[ ?rr g fopv Uird %%E’a?m Bﬁm&ﬁg?
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EX : Average weight of 100 employees of a company is 60 kg. Average weight
of male employees and female employees is 70 kg and 45 kg respectively. Then,
find the ratio male employees to female employees in the company.

3GI:- TP HU & 100 FHATRII D] 3Td do1- 60 fHarmg 81 By

aﬁmﬁu‘rﬁwﬂ%maﬁmﬂn’r &w%mﬂ 70@31111@%13

(IBPS CLERK MAINS - 2018)
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Ex: The average age of 36 students is 15 years. When teacher’s age Is
Included to It, the average increased b% 1.What is the teacher’s age?
|

oI 181 B AT B

S O ] I ST 15 ﬁrwaﬁmmﬁ?ﬁgﬁ
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Ex: The average monthly salary of 20 employees in an organization is
Rs. 1500. If the manager's salary is added then the average salary
iIncreases by Rs. 100 What Is the manager's monthly salary?

GUER! ATRI® ad+ e |
u?wgaaﬂ-%ﬁngrma’raﬁﬂaam 100?7@&36%)10% uag!?t@r
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Ex: Three years ago, the average age of a family of 5 members was
17 years. A baby having been born, the average age of the family is the

same today. The present age of the baby is:
3T AiI- el ,mw?m@rvﬁawaﬁaﬁmangwaﬁzﬁlwaé

BT o, TRAR &l 3TY 3T TP ol ¢ | T Bl ddH 31T B
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Ex: The average weight of 10 persons decreases by 2.5 kg when a
new person comes In place of one of them weighing 70 kg . What Is
the weight of new person?

3IST:- 10 Afaddl T 3 a1 2.5 & H gl SIIdT g, od
U Y1 Afad 70 faImH go9 S#18Id1 g1 7 T Jol T
?
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Ex: The average weight of 8 persons increases by 2.5 kg
when a new person comes in place of one of them weighing
65 kg. What_ might be the weight of the_.new person ?

3al- 8 ' T S doT 2.5 d¢ SITdT ¢, oid U
E ) 65 ThAIITH 9o &1 BidT 8 | AT i BT goi- T 8i
AP dl 82
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Ex: A cicketer bas a certain average for 10 innings, In the
eleventh inning, he scorod 108 runs, thereby increasing his
average by 6 runs._His new average is :

=10 UTiai & BIEG) 1T,
t: 1%8Q=rm1,%lf§mqgm 6 31 9¢
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Ex: A batsman makes a score of 87 runs in the 17t inning and thus
INncreases his average by 3 runs Flnd his average after 17" inning.

7 87 T STl 9 T8 SUDT
&nﬂaswaaw]%lna’rmﬁ & qI¢ SADI 9l |
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Ex: The average salary of all the workers in a workshop iIs Rs.8000. The
average salary of 7 technicians is Rs.12000 and the average salary of the rest is
Rs.6000. Find The total number of workers in the workshop.

3GI:- Wm%gﬂ%%ﬁrﬁa@sooom%7
BT 3 dag 12 BT 3T
W 3 12000 | 6000

DHTARITEAT DI P JSIT BT AT M|
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Ex: When a student weighing 45 kgs left a class, the average weight of the
remaining 59 students increased by 200 g. What Is the average weight of the
remammg 59 students?
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Ex: There were 35 students in a hostel. If the number of students is
Increased by 7 the expenditure on food increases by Rs. 42 per day
while the average expenditure of students is reduced by Re.1. What

was the Initial expengllst%'_leaoan :‘o7od per da %m%ﬁ_\q%wﬁum
ST ot 18 5% e S S S 1 o e

U g T Y1?
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Ex: Three maths classes X, Y and Z, take an algebra test. The average score of
class X is 83. The average score of class Y is 76. The average score of class Z is
85. The average score of class X and Y is 79 and average score of class Yand Z is

81. What is the average score of classes X, Y and Z?

%m WXYW | BT Z BT u'fr&rura?r ﬁﬁ&nx
7
&" aﬁvm%rrvaﬁvzm&" PR 81 |a:m mrrx&r\r(aﬁvzwrwv
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